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— %5 23RT 0oy KRB 1N
Here we are discussing a case where he said "'

OVERVIEW

The ®m3 concludes that according to 2Rmw if the man does not say 2 by PP
she is not nWTPn, since it is MM PRY 2°7°, indicating that YXW is of the opinion
that £>7 117 XD Mo PRY 2°7°. Our Mmvon will cite examples which indicate that
PR maintains 2°7° PN MMM PRY 2°7°. This contradiction will be resolved by
explaining that there are different levels of mm > PRY 7.

— 20995 1990 NY NS PRY D11 INNYY XN PI01RT yun
It seems that the X713 concludes here that according to »Xm»w the rule is that 27
2979 IOMT KD NI PRY.

mooin asks:
—99%2NY 92INN MN (8,297 DT NIDN YIHAT NI

And it is astounding! For in the beginning of 2371 ndon the miwn states, ‘one

who says to his friend one of the following statements -
— 90N 19 OYIV 2IRY Y DN 2IRY 7199 23PN 101D 2V 1919 29N

‘I am removed from you; I am separated from you; I am distanced from you’;
or he said ‘I take a vow that I will not eat yours or that I will not taste yours’ in

all these cases it is forbidden for him to eat from his friend.’
— 19153 INIAY YN (3,797 ow) NN DY 1>VIND)

And the X723 comments on this 71wn, that "Xy said, in all these cases of 1171

TR CIWNDA TR0 or i Capmn, he is not forbidden to eat from his friend -
— 19 OV IINRY Y DN 2IIRY 9NNV Ty

Unless he clearly added and said 7% 2I8 “1°R@ or T2 2pm0 SR -
— YAYN TTHA RYNYN RTT 709 2397110 N7 RNDYL INI 7701

And the X713 concluded what is the reason that 121 721 °177% by themselves do
not pose an 112°28 MO’X, because perhaps the term 7722 %1971 means I will not talk

with you, but not that I will not eat by you, and similarly the phrase -
— YNYN TN 1NN RYN RITAY XY 7010 W91

7% s1w9912 means I will have no business dealings with you, and -
— PV T TN 713 NIPNP NIT 53PN

7% s1pma2 means I will not stand within your nK '7. Therefore it is necessary that

!'See previous 187 X7 7"'7 MDOMN.
2 The X7n3 initially assumed that if he did not say > by 1w17p it is Mm PRY 27 The X3 concludes that he did
say "2, otherwise she would not be nwTpn; indicating that 2>7> P17 X2 MMM PRY o°7°.
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the 771 be clear and say I will not eat by you, and only then is he 79°5%2 70X. Otherwise since
we are not sure what he meant, there will be no 72°28 0K,
— 30575 1711 XY MHNIMN PRY D HNNIY 9207 R1IOD (3,1 97 0w) T799)

And the X3 there asks, should we say that YX12w maintains DT R 297
27 1N RD?

— 0 191 XD HININMN PRY 0272 9INT AN 2293 PHINN Y7 HNNY UM
And the X answers that Xm»w interprets the mw» according to ' who

maintains 2975 917 XY N2 PRW 297, Therefore it is necessary according to *" to

add 7% 923 *1rw. This concludes the citation from the X723 there.
— 475 1Y X220 RY 11IRT Y991 AN 5399 PINNAY YD INY ININDTN)

And since the X723 stated that ®Xy2w interprets the maw» according to ', it

can be inferred that X2 himself does not agree with "' -
— 019 199N 7YY X920 NON

But rather YX1»Ww maintains that N> PXY 2°7° are 27, How can our Xm3 here
state that XMW maintains 2°7° 717 X7?!

mooIN anticipates a possible answer, but rejects it:
— 57555 157 920 NN 5299 PHINNY 71 INNYT YT PN

And we cannot interpret the X to mean that YX12w establishes the mawn
according to 3" (because) [and] PXmw also agrees with >".

mooIn rejects this approach:
— 1917 5295 PPNINN NNPIND IRNIYT NPT INDI 291 9N 9INTN

For since the X3 asks later, and what pushed YXw»w to establish the mawn

according to '3, this proves that 7x1mw disagrees with >, for if Xmw agrees with > -
— 1M NY 9207 DIYN NTIND 2295 PNINND 2PN PINT INNN NIYP INND)

Then what is the question why did %mw force himself and establish the

according to "9, it is obvious why, since HXw agrees with 2" -
— NP 5299 YD a5
Therefore he establishes the 71wn according to 5''9. therefore we cannot say that 7w
agrees with > -
—0%1 199917 1Y 0P INTI NIN

3 If SXmw maintains 227 N7 MR 7R 027, then granted that 13 % 1770 is M1 1XYW 0°7° concerning MO
9%, nevertheless there should be an 7228 MOX (since it is 27 1"17), why then does ?XWw interpret the mawn that
there is an 7958 Mo°X only when he clearly states T2 99 *x&w. This proves that X" maintains 27 117 82 and
therefore 121 °197 is not sufficient and he must add 7% 9218 *1RW.

4 If Y%mw maintains 0°7> 177 X7 then why does the X3 answer that Xmw interprets the 73wn according to >3, when
the 813 should have said that SXmw interprets the 71wn according to his own view!

> When the X3 says that >33 17 P PXMW it means that XMW agrees with >"1 and that is why he interprets the
mwn according to *"
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But rather X is certain that 237> 1917 MoM 1XYW 0°7°.8 This is in contrast to our
X3 where it states that PX1Ww maintains 277 7177 8!

Mmoo offers another proof that XMW maintains 2°7° 1171 1"w 2°7°:
— DTN 739 199 NN 290 V) VW IDN (3,70 91 PPVII ININT I

And furthermore the 71wn states in 79w Noon; the essence of the wa is the phrase

27X Ho% NN NR 9777 (you are permitted to all men) -
— 702 YW 199 NIN NI 999D 9T 2T )1 IIIN NN %aY

“''1 maintains that the phrase of "X 3% %3715 57 371 (and this [referring to the v3]

shall be for you from me, etc) that is (also part of) the essence of the wa.
— $)3295 920 HNINYIY DY 1929 2NPH9)

And the 3337 argue with *"1 and X»w (there) agrees with the j12-.

In summation; MdOIN question is that from our X 13 it appears that by w1 7P where he does not
say *7 it is considered mmom PRY 07 and therefore it is not a valid W TP according to SXNw.
However, elsewhere 2X1nw maintains that 2°7> 117 MM PRY 2°7° concerning a 7°11 and by 1.
How can we reconcile the two (seemingly) contradictory views of 2xaw?!

N1D0IN answers:
— YRR Y NYUNPNT 593 ¥IWM RY 5Y AN XY HYUNPN NN S90T 19 U

And one can say; that when a man says nw7p» nX 377 and he did not say *»
there is no indication at all that he means that she should become nwTiP» to
me -

—19%2nY AYN YTPY HVY DINT

Because it is customary for a person to be wTp?2 a woman for his friend -
— %079 1991 XY HNINIY 9IRP INRT 231 29 HHI MN9I1M PNV D*1N

¢ Therefore the X m3 there asks, since 2Xmw disagrees with >"1 (and maintains that 27 17 »"w 0°7°), why does he
see fit to interpret the m1wn according to *".

7" is of the opinion that it must state clearly in the v3 that the v3 is being given from the husband to the wife,
otherwise it is MM XY 0°7°, for perhaps someone else is divorcing her, or he is divorcing someone else. This is
the way the np12rn is explained in ©>771 noon. In 1v) the issue is on the word 71 (and this); whether it is necessary to
specify that this v (this-j7) is implementing the divorce.

8 See X"w i who explains that in X,12 77 >3 'on the mawn states that when the scribes write out the forms of the 1)
(to save time when people need a divorce) they are to leave space to insert the names of the man and the woman, etc
(otherwise it would not be nw?). PR1Ww comments that it is also necessary to leave out the phrase of %37 N2 nX *7
07X (since that is v Hw 190 and it also has to be written maw?). However 28w does not require that we should leave
out the phrase of 121 °3*% 77> *7 17); indicating that this is not v3 2w 191, for XMWY agrees with the 1121 and argues with
"

° It appears from this statement that Moo1n considers the case of PW1TP where he did not say 2, as Mmom PRV D7
592. This would seem to be in contradiction to the previous 2 &1 71"7 Mmoo, There Nvon asked that the X113 could
have resolved the contradiction between w1 TR and 7°11 by stating that 311 is not a case of mmdm PRY o7
(intimating that it is 575 MM PRY 0°7°) and therefore it is not valid; indicating that by P mp it is (a regular) o7
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And concerning such 2°7° which are totally inconclusive as these, »Nyaw

certainly maintains that they are not 237°. Therefore 7X1w maintains by Pw17°p where
he does not say °2 (since it is 225 MM PRY 2°7°), she is not NWTIPH -
— 5910 NN NN 09737 NN YaN

However by this case of 29971 where he said 121 771 1771, it is more N1 than
the case of Pw17°p. Therefore X1 maintains that even though it is M°21 PRW 0°7°, nevertheless

since it is not 9723 M*om PR (but NP M), it is a valid 771 and he is 70X even 77°2K82.
—19%2N HYN Y2 DTN PRT 51N 1HN PV Y0910 2T XyDH 129

And similarly by the case of one who writes the drafts of v where X
maintains that the phrase of *X2°» 1217 171 is not crucial, that is because even if he
omits that phrase, it is still n¥p no 0°7 for a person does not divorce his

neighbor’s wife. Everyone understands that the v is written and given from the husband to
his wife.

In summation; the view of PX1mw is by %22 Mo PRW 0°7° (as in PY17°P where he did not say °7),
it is @7 171 XY (and there is no PWI7TP), however by ono mne o PRY 0°7 (as in the case of 117N
or by 10’3 [concerning the phrase of *X1°»n 121 171]) there we maintain that 27> 731.

mooIN cites a X3 which seems to contradict the above mentioned view of m»oin that YX1mW
maintains 2°7° 771 A"w D7

— 1) NV 9N NN 9IIND 2097 02990 VY (3,297 1) NIDN VI IN
However in the beginning of 9°11 noo» there are texts that read as follows: the

1IN states, if one says XN he is a 9971 -
— 19399 92)¥ 9913 NINY NN INMY 1IN

bR commented on the mwn , and this law is valid if a 291 was passing in

front of him when he said X7 -
— ¥ PMD NY /N9 PRV QY7 SNINY 92994 N1IIY 99N NP

And the X7 there says, does that mean that ®X1»2 maintains n1 PRY 297

277 717 R (since he requires a 1°15% 921w 7711)? The X3 replies, indeed -
— 9391112) NN D72 21 12397 92I¥ 991 93 5N DIVN )N

Mmoo PRw. However here mooin maintains that PwITp is also 975 NMP>m X, so it is the same as 11, How did
Mmoo expect to resolve the contradiction?! The *"15 answers that it is necessary to add a fourth category, which is
that it is not even %93 M1 1R 2>7°. When mooin asked that we can resolve the contradiction; n1901n claimed that
if 1197 72 7M1 PR it is not even 922 MM PRW D7, since the possibilities of 711 and nwn are equal. However by
IR even though it is 973 n*>m 1Xw 0°7, nevertheless it is still considered (273 N*2m PXW) 2°7° and not like 71
which is not even 7. There are therefore four categories: 1. mm*>m 0°7 (when a 711 is 17197 12w [according to the
0”90 W mentioned shortly in this m»oN]), where everyone agrees that 2>7° 1°17; 2. Mo PR 2°7° (like J7n 177m0)
where there is the np1?mn between 132711 *"1 and PRmWw agrees with the 13137 that 27 17; 3. 995 mimom pRw o7 (by
PwI7R without ° or 1°19% 921w "1 X [according to the Xipon of the previous NMvoIN), where everyone agrees that X?
o7 17; 4. The category of "7 X2 Mo PRW 0°7° 17°0R (which is 1192 22w 7°11 1X according to the X°wp of the
previous Mv0N), which certainly is 0°7° 1917 R? (since it is a wnn Hpwi poo).
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It is so, that PX¥W maintains 2°7 7177 X, therefore when a =11 is 1Md% =2w it is

nso 297 and the 771 s valid -
— 1093139 DY /N9 PPRY D79 211 12390 92I¥ 991 PN JAN

However if there is no 5% =2 =d13, it is nIPIOM PRW 2°7° and the 171 is not
valid. According to these texts X1 maintains 27" > XY MM PRY 7. !

mooIN cites an alternate X07°3 there which supports MvoIN view:
— 019 1991 XD HINIIM PPRY 0 ININY 920D N1 YDNT 09990 NI

However there are texts which read differently. The X3 comments on s'2Xnw
qualifier, that he is a 9°11 only when 157 12 211, and asks does this mean that

bR maintains 2°7° P77 XD DD PRY 297 -
— INSN Y39 MNN PNY DT 19991 19395 921y WM

And the X3 answers it is not necessarily so; PX1W can maintain D7 "7,
however if a 7°11 is M®% =2w it is considered at least as NI2m PRY 2°7° and

therefore the n111 is 911 -
12:597 XD 5IN2911 PRV 199N 12395 921¥ PN YaN

However if there is no 5% 221 11 then it is not even MMM PRYW 2°7° and
therefore the N1~ 11 is not . '3

SUMMARY

X1 maintains that 27 17 ano Mo PRY 0°7°. This explains why by 1771
71 he considers it °7> and similarly by 03 it is not necessary to write X1 121 17,
since it is a0 MM PRY 2°7°. However by %75 Mo PRw 2°7 as in the case of
1P where he does not say °7 then Xmw agrees that 2>7° 1177 X? and she is not
nwTIPn. The MDA in 711 argue whether 2R (who rules that XX is a 211 if
P10% 721) maintains 2°7 P R? 2" (and PdH 2w 11 is Mo 207 and 12w PR
1197 is [AND] MMM PRY 0°7°) or PRMAY maintains 2°7° 11 »"w° (and 17195 921 N
is [ano] Mo PRW 0°7° and 1197 N2 11 PR is not even MMM PRY 277 [or 27
295 Mo PRY)).

19 This X07) would seemingly coincide with the view of Mma0In answer in the previous W? X7 7"7, that 22w 211 PX
1199 is considered mmom XY o°7° (but not that it is not even MPo>M XY 2°7° as NN maintained there in the
question). See following footnote # 12. See ‘Thinking it over # 2.

! This would seemingly contradict this which n1901n taught previously that S%mw (argues with *"1 and) maintains
27 17 "W o°7°. The following 0190 nX resolves this contradiction.

12 This 071" would seemingly coincide with the question in the previous W? 871 7"7 m20N. See previous footnote #
10.

13 1t would seem then that when X959 27 asked 2’7 P71 n"w> PXmw 7207 XW°n? he meant (not ano »"w> but rather)
P, P90 a"ee.
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THINKING IT OVER

1. According to the >0737 0°790 w° (who say that PXmW maintains 2°7> 1" X2 2"w?)
how will they explain the N1713 concerning 0°771 and 7°v°3 where n19010 showed that
2R1MY maintains 2°7° 1917 2"W?

2. It appears that the conclusion of our Mo0In is that P& maintains that 17 n"w>
2>7 and the case of 1°19% 721 711 PR is a case of not even »"w and therefore the
M1 is not 1. However the conclusion of the previous MsoIn seems to be that X
PIDY 12 M is a [regular] case of Mmmom pPRY 0°7.'* There seems to be some
contradiction here between the two msoin.

14 See footnote # 10 (and # 12).
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